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of maximum (m) C, in

of maximum (m) C,g in

of maximum (m) C, in

of maximum (m) C,g in

Z,380_775 1837 180 1459 03504 0.3531 18%

7,380 7751762 180 2141 0309 03155 18%

7,380_775 1837 180 1459 03504 0.3531 18%

XYZy=95.04 , 100.0 , 108.89 Yan=[Y-50)/50 XYZyy=06.42 , 100.0,, 82.49 Van=[Y-50]/50 XYZ,=95.04 , 100.0 , 108.69 \=E 50]/50 XYZyy=096.42 , 100.0,, 82.49 Yan=[Y-50]/50
256,-3,)Y 1-69 1 691 1-69 } 691 A,=256,-8,) Y 1-69 %1 9, A=256,-23,) Y 1-69 %1 691
, =258, (b,-b,) Y 1 , === 1 , “‘—?Yn BZ—ZSB (b,=b,) Y 1 N $,n B,=25B,(b,-b,) Y 1 N 93Yy
a,=a,[(x-%) /) 0.8 - 0.8 a,=a,[(x-%) /) o, p a=a [ (x-%) /) 1 - L Q —
b,=by[2/3 Ry by=byl2/9 v - C
2= 1, byy=-04 e ' 2= 1, byy=-04 2= 1, byy=-04 S
X, =0,110,B_ = 0,800 i ’ AQSAszr %, =0,110,B_ = 1,000 06 X, = 0,110, B_ = 0,800 -~ = = w
Cogo=[A+B]* Cogz=[AS+B1* -0.06, CAaz-[Af*BZ]”z CABZ‘[A F+B;]V B0 - 0. (@) pnd
6 Ostwaldcolours (o) 6 Ostwaldcolours (0) 6 Ostwaldcolours (o) 6 Ostwaldcolours (0) I N Z m ('D
of maximum (m) C, in 4 of maximum (m) C,g in 4 of maximum (m) C, in of maximum (m) C,g in 7N N i - F._@
linear colour space Cyg ,, Y) 15% 7 ! linear colour space Cyg 5, Y) 15* v ! linear colour space Cyg , Y) 155# N z ! linear colour space Cyg 5, Y) 153‘# N 7 ! 5 " a .
lilumin. D65, Y,, =100 v =10 - - — - 092 ! llumin. D50, Y,,=100, Y, =10 - =-=-=-C ! lllumin. D65, Y,, =100 v =10 -0.92 ! llumin. D50, Y,,=100 Y =10 <0.92 ! —
Name Range X, Y A -1 Name Range X, ¥, B v A A Name Range X, vy A A -1 Name Range X, v Ao -1 5=
R, 567_775 6321 4418 11 0a 05337 075 5% 4g0 R, 570_775 6808 46.05 8.37 05557 0.3759 568 41 R, 567_775 6321 4418 11 0a 05337 075 5% 4g0 R, 570_775 6808 46.05 8.37 *hsssr oo s an. Q
Y, 493775 78.93 94.84 17.06 0.4135 0.4969 570 463 V496775 84.45 04.64 12.16 0.4415 0.4948 573 468 Y, 493775 78.93 94.84 17.06 0.4135 0.4969 570 463 V496775 84.45 04.64 12.16 0.4415 0.4948 573 468 =he
G, 493 567 25.32 60.76 17.02 0.2455 0.5892 535 5854 G, 496_570 26.11 58.68 12.12 0.2694 0.6055 538 5888 G, 493567 25.32 60.76 17.02 0.2455 0.5892 535 5854 G, 496 570 26.11 58.68 12.12 0.2694 0.6055 538 5888 o=
cd 380_567 41.44 65.92 108.850.1916 0.3048 489 596 Parameter: C, 380_570 38.08 64.05 82.46 02063 0.3469 491 538 Parameter: Ca 380_567 41.44 65.92 108.85 01916 0.3048 489 596 Parameter: C4 380_570 36.08 64.05 82.46 0.2063 0.3469 491 538 Parameter: =0
B, 380_493 25.71 15.26 102.83 0.1788 0.1061 463 570 Y & Name B, 380_496 21.71 1546 78.67 0.1874 0.1334 468 573 Y & Name B, 380_493 25.71 15.26 102,83 0.1788 0.1061 463 570 Y & Name B, 380_496 21.71 1546 78.67 0.1874 0.1334 468 573 Y & Name 3
M, 567_493 79.33 49.34 102.87 0.3426 0.2131 535535 y M, 570_496 80.05 51.42 78.71 0.3808 0.2446 538c538 . M, 567_493 79.33 49.34 102.87 0.3426 0.2131 535535 N M, 570_496 80.05 51.42 78.71 0.3808 0.2446 538c538 y
s v oo oo o e minant D65 (| o502 07 5 % Oy o sone Huminant D50 s v oo oo s e Maminant D85 || US55 S0 5507 548 03k o oo Hluminant DsO @ =
N 38077595 100 1088 031270329 10% Y,,=100 Y,=10 N,'380_775 9,64 100 824 03456 03585 10% Y,,=100 Y,=10 N 38077595 100 1088 031270329 10% Y,,=100 Y,=10 N,'380_775 964 100 824 03456 0.3585 10% Y,,=100 Y,=10 <
7,380 775171 180 196 031270329 18% 2, 380775 1735 180 14.84 03457 0.3585 18% 7,380 775171 180 196 031270329 18% 2, 380775 1735 180 1484 03457 0.3585 18% DN
BEP70-1A BEP70-2A BEP71-1A BEP71-2A E o
XYZ,=100.93, 100.0, 64.68 an:[Y—5()]/50 XYZ,=109.84,99.99, 35.58 Yan:[Y—SO]/SO XYZW 100.93, 100.0, 64.68 Yan:[Y 50]/50 XYZ,=109.84 , 99.99 , 35.58 Y n_[Y 50]/50 Q.) N
A=256,-3,) Y 1-69 1 61 A2 256,-3,) Y 1-69 1 690y A=256,-3,) Y %1 o9l A,=256,-8,) Y 1-69 By =N
B,=25B (b, —b,) Y 1 1 4 = ‘,—ﬂ 32_255 (b,-b,) Y o &a B,=25B;(b,-b,) Y 1 - \q\ 2d 6 O
8y [ (x=x;) /)] ! p ! /o8 i a,=ay [ (x=x.) /) 0 a,=ay[(x-x,) /) ! Py~ o, AT ae)
b,=by[z/y o1c, 1 ,/ Ryl =bylz/y 1 b,=by[z/y 61CVI’” < 1 =} )
a=1, byy=-0,4 1 R 0= 1, byy=-04 1 0= 1, by =04 ! AN
% =0,110,B_= 1,300 o= 7 Q.0 7, 52%@52" X, = 0,110,B_ = 1,300 X, = 0,110, B, = 2,500 e T Q.0 X az%ABVZ QD =
2. 112 —[A24+B 212 g ey A2 112 —[A24+B 212 T v -0 !
Crer~[A7+B7] - Crgr~[A7+B/] 58G, Y006 ;5T Crer~[A7+B7] 56 Crgr~[AF+B/] 8380 Y008 5=
6 Ostwaldcolours (o) 6 Ostwaldcolours (0) 1 , - 1 49R, 6 Ostwaldcolours (o) 1 A 6 Ostwaldcolours (o) [N - 3 9R, o m
of maximum (m) C,; in , of maximum (m) C,g in !, / 4 I of maximum (m) C,; in I -, e ! of maximum (m) C,g in [PRAIN - 1 |'|'|
~ . . . - . p -
linear colour space Cyg; 14# 72 , Imea.r colour space Cyg,, ) 14% 73 : ||near colour space Cyg 5, Y) 145# N 5 L : ||nea.r colour space Cyg,, ) 14&”‘ N - - : 3 -U
llumin. P40, Y,, =100 Y,=10 s - - - - - 092 Illumin. A0D, Yy, 1oq Y,=10 B p—— - i lllumin. P40, Y,, =100 Y,=10 .92 Illumin. A0D, Yy, 1oq Y,=10 -9 D
Name Range X, Y, Z, %, Y A A -1 Name Range X, -1 Name Range X, Y, Z, %, Yy A A -1 Name Range X, -1 ~
v 498775 91.64 95,62 10.18 04636 04848 576 40 v 504_775 105.08.39 569 0507 0.4654 581 474 v 498775 91.64 95,62 10.18 04636 04848 576 408 v 504_775 105.096.39 569 0507 0.4654 581 474 w w
G} 498573 2853 56.83 10.14 0.2925 0.6033 540 A0 G 504579332 57.71 565 03437 0.5976 547 5474 G} 498573 2853 56.83 10.14 0.2925 0.6033 540 A0 G, 504579332 57.71 5:65 03437 0.5976 547 5474
C, 380 573 37.83 63.01 64.65 0.2285 0.3807 493 600 Parameter: C, 380 579 38.03 61.33 35.54 02819 0.4545 499 605 Parameter: C, 380573 37.63 63.01 64.65 0.2285 0.3807 493 600 Parameter: C, 380579 38.03 61.33 35,54 0.2819 0.4545 499 605 Parameter: cC m
B, 380_498 19.49 14.28 61.04 0.2055 0.1506 468 576 Y & Name B, 380504 15.93 13.71 33.48 0.2523 0.2172474 581 Y & Name B, 380_498 19.49 14.28 61.04 0.2055 0.1506 468 576 Y & Name B, 380504 15.93 13.71 33.48 0.2523 0.2172474 581 Y & Name )
M,573_498 826 5127 6108 04236 0.2629 540c540 " M, 579504 87.75 52.39 33.52 05052 03016 547c547 . M,573_498 826 5127 6108 04236 0.2629 5400540 " M, 579504 87.75 52.39 33.52 05052 03016 547c547 . U
W50775 005 646005799 0376k 1034 Muminant P40 1 S % osars asons. 0% fuminant A00 Wi50775 o050 646005799 03768 1034 Muminant PAO || S % osars osons. 00 fuminant A00 @
N, 3807751009 100 646 03799 03764 10% Y,,=100 Y,=10 N,'380 775 1098 9.99 355 0.4475 0,407 10% Y,,=100 Y,=10 N, 3807751009 100 646 03799 03764 10% Y,,=100 Y,=10 N,'380 775 1098 9.99 355 0.4475 0,407 10% Y,,=100 Y,=10 3 ~
Z; 380775 18.16 18.0 1164 0.3799 03764 18% 2, 380_775 19.77 17.99 64 04475 0.4074 18% 2, 380775 18.16 18.0 1164 0.3799 03764 18% 2, 380_77519.77 17.99 64 04475 0.4074_18% —
BEP70*3A BEP70-4A BEP71*3A BEP71-4A (D o
XYZ,,=100.0, 100.0, 100.0 Yan=[Y-50]/50 XYZ,=98.07,100.0, 118.22 an_[Y 50]/50 XYZ,,=100.0, 100.0, 100.0 Yan=[Y-50]/50 XYZ,=98.07,100.0, 118.22 2 Z
1-69 691 A, 1-69 A,=256,— azn)Y 1-69 1 691 A,=256,- azn)Y 1-69
| h --——-%ja | ‘-——-QYG B,= 2,58, (b,~b,) Y | X gla B,=2.58, (b, -B,) Y ! o U
i > -
1 ,/\Yos8 > 1 : a2 a[(x=%) /) 1 08 - 8,=3,[(X=x%,) /% 1 —h
| 1 =bylz/y 1 - -7 =hylz/y | @) U
685G e 2, -biu[bz =-04 64G._ ~ '\'\\ 1 2 _b;zlolb ~04 650, - _D
54VAB21] X.=0,110,B, = o 900 _g" e 0]007 N 51%1“32" X =0, 110 B, = 0,700 wn
S _ 50- ComlAHBA 59G, > Crer IAZBAM 5915, - T
6 Ostwaldcolours (0) 6 Oslwaldcolours (o) 1 -9 45& 6 Ostwaldcolours (o) I 6 Ostwaldcolours (o) 1 _— ~—
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7,380 7751762 180 2141 0309 03155 18%

1
/-
i i [ 2 1 i -
linear colour space Cag, Y) 15 linear colour space Cyg 5, Y) 15* , linear colour space Cyg . Y) 15@A linear colour space Cyg 5, Y) 153#
Hllumin. E00, ¥,,,=100 Y, =10 llumin. COO, Y,,=100 Y,=10 - - - - llumin. E00, Y, =100 Y, =10 Illumin. €00, Y,,=100 Y,=10
Name Range X, Y, Z, x X Name Range X, Y, Z. ) -1 Name Range X, Yy 2, %, Name Range X, Y, 2, )
R, 570_775 6894 46.4 1014 05494 0.3637 598 489, R, 567_775 6491 4536 11.98 05309 0371 596 487. R, 570_775 6894 464 1014 05404 P R, 567_775 6491 4536 11.98 05309 0371 596 487.
Y 494 775 85.05 95.34 1549 0.4341 0.4867 573 43 Y, 492_77580.42 94.63 18.17 0.4162 0.4897 571 463 Y 494 775 85.05 95.34 15,49 0.4341 0.4867 573 43 Y, 492_77580.42 94.63 18.17 0.4162 04897 571 463
G, 494 570 262 50.04 15.45 02601 05863536 5364 G, 492567 25.41 59.36 18.12 0.2469 05768 535 5858 G, 494 570 262 59.04 15.45 02601 05863536 534 G, 492567 25.41 59.36 18.12 0.2469 05768 535 5358
C,380_570 4116 637 9995 0.2009 0.311 439 598 Parameter: C, 380_567 4307 64.74 118.190.1905 0.2864 487 596 Parameter: C, 380570 41.16 637 ©99.96 02009 0311 489 598, Parameter: C, 380_567 43.07 64.74 118.100.1905 0.2864 487 596 Parameter:
e i A7, o 2 2 yateme o |mmmansiiiimess &name e i A7, o 2 2 yateme o |mmimmmiiiiess: &name
a4 © i a2 © i a4 © i a2 o i
W, 380_775 100.0 100.0 100.0 0.3333 0.3333 100% lluminant EOO W,380_775 98.07 1000 11822031 03161 100% lluminant CO0 W, 380_775 100.0 100.0 100.0 0.3333 0.3333 100% lluminant EOO W,380_775 98.07 100.0 11822031 03161 100% lluminant CO0
N, 380775100 100 100 03333 03333 10% Y,,=100 Y,=10 N30 77508 100 1182 031 0361 10% Y,,=100 Y,=10 N, 380775100 100 100 03333 03333 10% Y,,=100 Y,=10 N30 77508 100 1182 031 0361 10% Y,,=100 Y,=10
2, 380775180 180 180 03333 03333 18% 2,380 7751765 180 2128 031 03161 18% 27, 380775180 180 180 03333 03333 18% 2,380 7751765 180 2128 031 03161 18% —
BEP70-5A BEP70-6A BEP71-5A BEP71-6A
XYZ,=102.06 , 100.0 , 81.06 Yan=1Y-50)/50 XYZ,=97.93 , 100.0, 118.95 Vo= Y-50]/50 XYZ,,=102.06 , 100.0, 81.06 Yan=[Y-50)/50 XYZ,=97.93, 100.0, 118.95 \== 501150 C
A=256,-3,) Y 1-69 SEBIY A=256,-8,) Y 1-69 egle A=256,-3,) Y 1-69 1 6o A=256,-8,)Y 1-69 ll eg, lug)
B 1 B SEEY B,= 2,58, (b,-b,) Y 1 P e B,= 2,58, (b,~b,) Y 1 ZoN a,u B,=25B, (b,-b,) Y 1 o a,n
! A 7 a=ay[ (x=x)/) : 8=y [ (x=x)/Y ! R, - a=ay[ (x=x)/) ! - R . 3
- - - - -
! - ! bylz/y b, =by 2/ ¥ ! b,=by,[2/y 65%; . N !
g i 0= 1, byy=-04 =1, by=-04 S N 0= 1, byy=-04 y L Q
00” a2\ % 0118 06 % 0410, 00” Ys 52821 2% 0,118 g Cas,2 (=3
52 <%, = 0,110, B, = 0,700 X, =0,110,B = 1,000 > 52 :<|x. = 0,110, B, = 0,700 ~ ~ 5bM D
T = 2 T —[A.2- 172 ¥ L
006, “ 55 Crgr=[A7+BS] =006 Cago=[AS+B;] 50 ne2=A7+B;] =3 =
6 Ostwaldcolours (o) P A 7R, 6 Ostwaldcolours (o) 6 Ostwaldcolours (o) 1 ~147R, 6 Ostwaldcolours (o) 145& —
N : P : N : - ;
of maximum (m) C, in : - / 7 : of maximum (m) C,g in / X of maximum (m) C,; in : i : of maximum (m) C, in ~ - : Q)
: / " : p " -_
linear colour space Cug ,, Y) 15849 , linear colour space Cpg 5. Y) 153{# 73 , linear colour space Cyg» Y) 158! N ” , linear colour space Cpg 5. Y) 15%# ” ,
llumin. P00, Y,,=100 Y,=10 = -~ —g-092 llumin. Q0O, Y, =100y 10 === -0.92 llumin. P00, Y,, =100 Y,=10 ~0.92 lllumin. QO Y,,, =100Y, 10 ~0.92 o)
Name Range X, %y 2z, %, A -1 Name Range X, ¥, X -1 Name Range X, Y, Z, %, Y, A A -1 Name Range X, ¥, X -1
e e Yo o S22 sk skl 1y e s w00 s s 05t o a e e o e S22 sl skl 4y e s w00 s s 05t 2 a o
Y} 496775 90.07 95.04 1.7 0.4576 04828 575 467 V) 492775 7997 94.93 18.29 0.4139 04913570 462 Y, 496_775 90.07 95.04 11.7 04576 0.4828 575 467 V) 492775 7997 94.93 18.29 0.4139 04913570 462 o
Gy 496572 26.05 5654 11,66 02854 0.5956 541 514 G, 492 567 25.14 59.93 18.25 02433 058 535 5354 Gy 496572 26.05 58.54 11,66 0.2854 05956 541 514 G, 492 567 25.14 59.93 18.25 02433 058 535 5354
G5 380572 40.05 6351 BL02 02169 0344 491 600 Parameter: C; 380_567 43.11 65.01 118.920.1898 02863 487 596 Parameter: G5 380572 40.05 6351 BL02 02169 0344 491 600 Parameter: C; 380_567 43.11 65.01 118.920.1898 02863 487 596 Parameter: D
Vi 5724955433 5156 1159 0308 03118 seionss e ame Vi so1 1038308 5011 112120399 0204259500 " name Vi 5704955433 5156 179 0308 03418 setonss T ame Vi so1 1938208 5011 112120399 02042 S50 7 & Name I
572 c i z o i 572 c i "~ o h
W380_775 102000 8106 03604 03531 1005 Muminant POO W380.775 57,53 1000 116.950309 03155 100% Muminant Q00 W380_775 102000 8106 03604 03531 1005 Muminant POO W380_775 57,53 1000 116950309 03155 100% Muminant QOO =
N 380775102 100 81 03604 03531 10% Y,,=100 Y,=10 N,'380 775979 100 1189 0309 03155 10% Y,,=100 Y,=10 N, 380775102 100 81 03604 03531 10% Y,,=100 Y,=10 N,'380 775979 100 1189 0309 03155 10% Y,,=100 Y,=10

BEP70—7A

BEP70-8A

BEP71-7A

BEP71-8A

BEP70-7N

BEP71-7N

TUB-test chart BEP7; ®stwaldoptimal colours for 8 illuminants Dxx, input: rgbh/cmy0/000k/n

CIE-02, diagram$Cag 2, Y) C=10:1, scalér=—1 to 1, antagonistic reflection
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